ELEC 120
Foundations of Electrical Engineering
Spring 2007
Homework Assignment #7 – due in class Friday, Mar. 30, 2007
Problems 2.41 and 2.47 (find the Norton current) in the textbook, plus the following additional problem:
1. A CATV (cable television) amplifier with an output resistance of 75 , represented by the TEC on the left below, is supplying a signal to a distribution amplifier that is represented by the equivalent circuit model to the right below.  Find the value of resistor RA so that maximum power is transferred to the distribution amplifier, and find the maximum power that can be delivered.  Assume that there are no devices connected to the output vo (at least none that draw current).  Terminals a-b represent the connection between the CATV amplifier and the distribution amplifier.

[image: image1]
Notes and Hints:

You may make reasonable assumptions and approximations in order to compensate for missing information, if any.  Provide the details of each problem solution, including important intermediate steps.  You will not receive credit if you do not show your work.

Prob. 2.41:  The answers are RL = 3  and P = 18.75 W.
Prob. 2.47:  The answer is iN = 0.25vs, if the arrow of the Norton equivalent current source points to terminal a.
Prob. 1:  The answers are RA = 300  and Pmax = 210 mW.
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